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1. Which of the following number is divisible

by 6?

fuEu esa ls dkSu&lh la[;k 6 ls foHkkT; gS\
CHSL 2019 13/10/2020 (Morning)

(a) 23,408 (b) 43,923

(c) 1,00,246 (d) 3,49,722

2. If the number 687x29 is divisible by 9,

then the value of 2x is :

;fn la[;k 687x29, 9 ls foHkkftr gS rks 2x dk eku
D;k gksxk\

SSC CGL 6 March 2020 (Morning)

(a) 8 (b) 3

(c) 2 (d) 4

3. Which are the two nearest numbers in

19,596, divisible by 9?

19,596 ls dkSu&lh nks fudVre la[;k,¡ gSa] tks 9 ls
foHkkT; gSa\

CHSL 2019 14/10/2020 (Morning)

(a) 19,564; 19,620

(b) 19,611; 19,575

(c) 19,509; 19,611

(d) 19,593; 19,602

4. If 7 the given number 925x85 is divisible
by 11, then the smallest value of x is :

;fn nh xbZ la[;k 925x85] 11 ls foHkkT; gS] rks x

dk lcls NksVk eku fdruk gksxk\
SSC CGL 7 March 2020 (Morning)

(a) 4 (b) 2

(c) 1 (d) 3

5. What is the least value of x such that

517x324 is divisible by 12 ?

x dk og lcls NksVk eku Kkr djsa rkfd 517x324]
12 ls foHkkftr gks tk,A

SSC CGL 11 June 2019 (Morning)

(a) 3 (b) 1

(c) 0 (d) 2

6. 210102 can be divided exactly by

210102 dks iw.kZr% fdlds }kjk foHkkftr fd;k tk
ldrk gS\

SSC CPO 16 March 2019 (Afternoon)

(a) 7 (b) 3

(c) 4 (d) 8

NUMBER SYSTEM : DIVISIBILITY
(la[;k i¼fr % foHkkT;rk)

7. Number 30744 is divisible by which one
digit number?

la[;k 30744 ,d vad okyh fdl la[;k ls foHkkT;
gS\

SSC CPO 16 March 2019  (Evening)

(a) All the other numbers except 5 and 7

(b) only 2, 3 and 6

(c) only 2, 3, 6 and 9

(d) All the other numbers except 5

8. Number 106974 is divisible by which one
digit number?

la[;k 106974 ,d vad okyh fdl la[;k ls foHkkT;
gS\

SSC CPO 15 March 2019 (Evening)

(a) only 2, 3, 4 and 7 (b) only 2 and 3

(c) only 2, 3 and 4 (d) only 2, 3 and 7

9. For what value of x is the seven digit
number 46393x8 divisible by 11?

x dk dkSu&lk eku j[kus ij lkr vadksa dh la[;k
46393x8, 11 ls foHkkftr gks tk,xh\

SSC CGL 11 June 2019 (Evening)

(a) 5 (b) 3

(c) 2 (d) 7

10. What should be the value of N to make
396258N divisible by 8?

8 ls 396258N dks foHkkT; cukus ds fy, N dk
eku D;k gksuk pkfg,\

CHSL 2019 19/10/2020 (Evening)

(a) 2 (b) 8

(c) 4 (d) 6

11. The number 23474 is exactly divisible by

la[;k 23474 foHkkT; gS %
SSC CPO 14 March 2019 (Morning)

(a) 2 and 3 only (b) 2 and 4 only

(c) 2 and 11 only (d) only 2

12. The number 66249 is divisible by which of
the single digit number?

la[;k 66249 fdl ,d vad okyh la[;k ls foHkkT;
gS\

SSC CPO 15 March 2019 (Afternoon)

(a) only by 3 and 9 (b) only by 3 and 7

(c) only by 9 (d) only by 3
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13. Which of the following numbers is divisible
by both 7 and 11?

fuEufyf[kr esa ls dkSu&lh la[;k 7 vkSj 11 nksuksa ls
foHkkT; gSa\

CHSL 2019 19/03/2020 (Morning)

(a) 16,324 (b) 10,098

(c) 10,108 (d) 10,087

14. Which of the following numbers is divisible
by both 9 and 11?

fuEufyf[kr esa ls dkSu&lh la[;k 9 vkSj 11 nksuksa ls
foHkkT; gSa\

CHSL 2019 19/03/2020 (Evening)

(a) 10,089 (b) 10,098

(c) 10,108 (d) 10,087

15. Which of the following numbers is divisible
by 2, 5 and 10?

fuEufyf[kr esa ls dkSu&lh la[;k 2] 5 vkSj 10 ls
foHkkT; gS\

CHSL 2019 18/03/2020 (Morning)

(a) 7, 20, 345 (b) 1,25,372

(c) 19,400 (d) 149

16. What is the value of x so that the value of
seven digit number 8439x53 is divisible by
99?

x dk eku D;k gksuk pkfg, rkfd lkr vadksa dh la[;k
8439x53] 99 ls foHkkftr gks tk,xh\

SSC CGL 13 June 2019 (Afternoon)

(a) 9 (b) 4

(c) 3 (d) 6

17. If the seven digit number 56x34y4 is
divisible by 72, then what is the least value
of (x + y) ?

;fn lkr vadksa dh la[;k 56x34y4, 72 ls foHkkftr
gS] rks (x + y) dk U;wure eku Kkr djsaA

SSC CGL 13 March 2019 (Morning)

(a) 8 (b) 12

(c) 5 (d) 14

18. If a nine digit number 389x6378y is

divisible by 72, then the value of 6x+7y

will be :

;fn ukS vadksa dh ,d la[;k 389x6378y, 72 ls

foHkkftr gS] rks 6 +7x y  dk eku gksxk %

SSC CGL Tier-II, 11 September 2019

(a) 6 (b) 13

(c) 46 (d) 8

19. If the 11 digit number 567x43267y is

divisible by 72, then the value of x y5 8

is :

;fn 11 vadksa dh la[;k 567x43267y, 72 ls

foHkkftr gS] rks 5 +8x y  dk eku D;k gksxk\

SSC CGL Tier-II, 12 September 2019

(a) 6 (b) 4

(c) 7 (d) 8

20. If the nine-digit number 708x6y8z9 is
divisible by 99, then what is the value of
x + y + z ?

;fn ukS vadksa dh la[;k 708x6y8z9, 99 ls foHkkT;
gS rks x + y + z dk eku D;k gS\

SSC CGL 5 March 2020 (Morning)

(a) 9 (b) 16

(c) 5 (d) 27

21. If the 8-digit number 1a765b12 is to be
divisible by 72, the least value of (2a + 3b)
is :

;fn 8&vadh; la[;k 1a765b12 dks 72 ls foHkkT;
djuk gS] rks (2a + 3b)  dk de ls de eku D;k gS]
Kkr djsaA

CHSL 2019 14/10/2020 (Afternoon)

(a) 10 (b) 9

(c) 12 (d) 11

22. If a 9 digit number 32x4115y2 is divisible
by 88, then the value of (4x – y) from the
smallest possible values of x is :

;fn 9 vadksa dh la[;k 32x4115y2, 88 ls foHkkT;
gS] x ds lcls NksVs laHko eku ls (4x – y) dk laHko
eku Kkr djsaA

SSC CGL 6 June 2019 (Morning)

(a) 31 (b) 20

(c) – 1 (d) 11

23. If 4M37094267N is divisible by both 8 and
11, where M and N are single digit integers,
then the valued M and N is :

;fn la[;k 4M37094267N, 8 vkSj 11 nksuksa ls
foHkkT; gS] tgk¡ M vkSj N ,dy vad iw.kk±d gSa] rks
M vkSj N dk eku gS &

CHSL 2019 20/10/2020 (Afternoon)

(a) M = 5, N = 6 (b) M = 2, N = 5

(c) M = 5, N = 2 (d) M = 5, N = 4

24. If the eight-digit number 342x18y6 is
divisible by 72, then what is the value of

9 +x y  for the largest value of y ?

;fn vkB vadksa dh ,d la[;k 342x18y6, 72 ls

foHkkftr gS rks y ds lcls cM+s eku ds fy, 9x+ y

dk eku D;k gksxk\
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SSC CHSL 2 July 2019 (Morning)

(a) 2 7 (b) 4 7

(c) 8 (d) 6

25. The ten digit number 2x600000y8 is
divisible by 24. If x  0,  and y  0, then
the least value of (x + y) is :

10 vadksa dh ,d la[;k 2x600000y8, 24 ls
foHkkftr gSA ;fn x  0, vkSj y  0 gS] rks (x + y)

dk U;wure eku Kkr djsaA
SSC CHSL 11 July 2020 (Morning)

(a) 5 (b) 8

(c) 9 (d) 2

26. If a ten digit number 2094x843y2 is
divisible by 88, then the value of (5x – 7y)
for the largest possible value of x is :

;fn 10 vadksa dh ,d la[;k 2094x843y2, 88 ls
foHkkftr gS] rks x dk lcls cM+k laHko eku ysrs gq,
(5x – 7y) dk eku Kkr djsaA

SSC CGL 6 June 2019 (Evening)

(a) 3 (b) 5

(c) 2 (d) 6

27. If a nine digit number 43x1145y2 is
divisible by 88, then the value of (3x – 2y)
for the smallest value of y is :

;fn ukS vadksa dh ,d la[;k 43x1145y2, 88 ls
foHkkftr gS rks y ds lcls NksVs eku ds fy, (3x –

2y) dk eku Kkr djsaA
SSC CHSL 1 July 2019 (Evening)

(a) 22 (b) 18

(c) 20 (d) 9

28. If a ten digit number 897359y7x2 is
divisible by 72, then what is the value of
(3x – y) for the possible greatest value of y
?

;fn 10 vadksa dh ,d la[;k 897359y7x2, 72 ls
foHkkftr gS] rks y ds lcls cM+s laHko eku dks ysrs
gq,  (3x – y) dk eku Kkr djsaA

SSC CGL 7 June 2019 (Afternoon)

(a) 3 (b) 8

(c) 7 (d) 5

29. If the 6-digit number x35624 and 1257y4

are divisible by 11 and 72 respectively then

what is the value of (5x – 2y) ?

;fn 6 vadksa dh la[;k x35624 rFkk 1257y4 Øe'k%
11 vkSj 72 ls foHkkT; gS rks (5x – 2y) dk eku D;k gksxk\

SSC CGL 4 March 2020 (Afternoon)

(a) 14 (b) 12

(c) 10 (d) 13

30. If the number 59a44b is divisible by 36,
then the maximum value of a + b is :

;fn la[;k 59a44b, 36 ls foHkkT; gS] rks a + b

dk vf/dre eku fdruk gksxk\
CHSL 2019 13/10/2020 (Afternoon)

(a) 16 (b) 12

(c) 14 (d) 10

31. If the 5-digit number 535ab is divisible by
3, 7 and 11, then what is the value of
(a2 – b2 + ab) ?

;fn 5-vadh; la[;k 535ab, 3, 7 vkSj 11 ls foHkkT;
gS] rks (a2 – b2 + ab) dk eku D;k gS\

 CGL 2019 Tier-II, (15/11/2020)

(a) 95 (b) 83

(c) 89 (d) 77

32. If the 5-digit number 235xy is divisible by
3, 7 and 11, then what is the value of
(3x – 4y) ?

;fn 5-vadh; la[;k 235xy, 3, 7 vkSj 11 ls foHkkT;
gS] rks (3x – 4y) dk eku D;k gS\

CGL 2019 Tier-II, (16/11/2020)

(a) 8 (b) 9

(c) 5 (d) 10

33. If 6-digit number 5x2y6z is divisible by
7, 11 and 13, then the value of (x – y + 3z) is ?

;fn 6-vadh; la[;k 5x2y6z, 7, 11 vkSj 13 ls
foHkkT; gS] rks (x – y + 3z) dk eku Kkr djsaA

CPO 2019 24/11/2020 (Morning)

(a) 4 (b) 0

(c) 7 (d) 9

34. If 489XY is divisible by 3, 7 and 11 ? Find
X, Y.

;fn la[;k 489XY, 3, 7 vkSj 11 ls foHkkftr gS]
rks X, Y dk eku gS %

CHSL 2020

(a) 7, 2 (b) 2, 7

(c) 1, 7 (d) 0, 7

35. If 676XY is divisible by 3, 7 and 11, then
find 3X – 5Y.

;fn la[;k 676XY 3, 7 vkSj 11 ls foHkkftr gS]
rks 3X – 5Y dk eku gS %

CGL 2020

(a) 9 (b) 8

(c) 7 (d) 6

36. The least number that should be added to
10000 so that it is exactly divisible by 327 is :

10000 ls U;wure dkSu&lh la[;k tksM+h tkuh pkfg,
rkfd ;g 327 ls iw.kZr% foHkkftr gks tk,\

SSC CPO 15 March 2019 (Morning)
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(a) 327 (b) 237

(c) 137 (d) 190

37. Which least number should be added to
1000 so that the number obtained is
exactly divisible by 37 ?

1000 esa de ls de dkSu lh la[;k tksM+h tkuh pkfg,
rkfd izkIr gksus okyh la[;k 37 ls iw.kZr% foHkkftr
gks\

SSC CPO 16 March 2019 (Afternoon)

(a) 1 (b) 25

(c) 36 (d) 13

38. The least number to be added to 13851 to
get a number which is divisible by 87 is :

13851 esa og dkSu lh U;wure la[;k tksM+h tk, rkfd
izkIr la[;k 87 ls foHkkT; gks\
(a) 18 (b) 43

(c) 54 (d) 69

39. The least number that must be added to
8961 to make it exactly divisible by 84 is :

8961 esa og dkSu lh U;wure la[;k tksM+h tk, rkfd
izkIr la[;k 84 ls foHkkT; gks\
(a) 27 (b) 57

(c) 141 (d) 107

40. The least number that should be added to
2055, so that the sum is exactly divisible
by 27 is :

2055 esa og dkSu lh U;wure la[;k tksM+h tk, rkfd
;ksxiQy iw.kZr% 27 ls foHkkftr gksxh\
(a) 28 (b) 24

(c) 27 (d) 31

41. The least number which much be added to
the greatest number of 4 digits in order
that the sum may be exactly divisible by
307 is:

pkj vadksa dh lcls cM+h la[;k esa og dkSu lh la[;k
tksM+k tk, fd ;ksxiQy 307 ls iw.kZr% foHkkftr gks
tk,\
(a) 132 (b) 32

(c) 43 (d) 75

42. How many numbers between 800 and 2000
are divisible by 13?

800 vkSj 2000 ds chp fdruh la[;k,¡ 13 ls foHkkT; gS\
CHSL 2019 19/10/2020 (Morning)

(a) 90 (b) 92

(c) 91 (d) 93

43. How many numbers between 1000 and
5000 are exactly divisible by 225?

1000 vkSj 5000 ds chp fdruh la[;k,¡ gS tks 225
ls iw.kZr% foHkkftr gS\
(a) 16 (b) 18

(c) 19 (d) 12

44. The largest five-digit number that is
exactly divisible by 81 is :

ik¡p vadksa dh lcls cM+h la[;k] tks 81 ls iw.kZr%
foHkkftr gS %

CHSL 2019 14/10/2020 (Evening)

(a) 99989 (b) 99991

(c) 99954 (d) 99876

45. What is the least 5-digit number that is
divisible by 91?

de ls de ik¡p vadh; la[;k D;k gS tks 91 ls foHkkT;
gS\

CHSL 2019 15/10/2020 (Afternoon)

(a) 10283 (b) 10101

(c) 10010 (d) 10192

46. The largest number of four digits exactly
divisible by 88 is :

88 ls foHkkftr pkj vadksa dh lcls cM+h la[;k gS %
(a) 9988 (b) 9944

(c) 8888 (d) 9768

47. What is the smallest 6-digit number that
is completely divisible by 108 ?

108 ls foHkkftr N% vadksa dh lcls NksVh la[;k fuEu
esa ls dkSu&lh gS\
(a) 100003 (b) 100004

(c) 100006 (d) 100008

48. The smallest number of five digits exactly
divisible by 476 is :

476 ls iw.kZr% foHkkftr ik¡p vadksa dh U;wure la[;k
gS %
(a) 47600 (b) 10000

(c) 10476 (d) 10472

49. How many numbers between 3 and 200 are
divisible by 7 ?

3 vkSj 200 ds chp fdruh la[;k 7 ls foHkkT; gSa\
(a) 27 (b) 28

(c) 29 (d) 36

50. How many numbers between 300 and 700
are divisible by 5, 6 and 8?

500 vkSj 700 ds chp fdruh la[;k 5] 6 vkSj 8 ls
foHkkT; gSa\

CPO 2019 25/11/2020 (Evening)

(a) 20 (b) 2

(c) 5 (d) 3

51. Find the number of three digit natural
numbers divisible by 8, 12 and 15.

8, 12 vkSj 15 ls foHkkftr gksus okyh rhu vadksa dh
izkÑfrd la[;kvksa dh la[;k Kkr djsaA
(a) 3 (b) 5

(c) 8 (d) 9
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52. How many numbers are there between 1

and 900 which are not divisible by 2, 3

or 5?

1 ls 900 ds chp ,slh fdruh la[;k,¡ gSa tks 2] 3
vFkok 5 ls foHkkftr ugha gS\
(a) 240 (b) 245

(c) 250 (d) None of these

53. How many numbers are there from 1 to

100 which are neither divisible by 3 nor by

5?

1 ls 100 rd ,slh fdruh la[;k,¡ gSa tks uk rks 3 ls
vkSj uk gh 5 ls foHkkftr gS\
(a) 53 (b) 54

(c) 55 (d) None of these

54. How many numbers are there from 700 to

950 which are neither divisible by 3 nor by

7 ?

700 ls 950 rd ,slh fdruh la[;k,¡ gSa tks uk rks 3
ls vkSj uk gh 7 ls foHkkftr gS\

SSC CGL 4 March 2020 (Evening)

(a) 144 (b) 143

(c) 146 (d) None of these

55. How many numbers are there from 200 to

800 which are neither divisible by 5 nor by

7 ?

200 ls 800 rd ,slh fdruh la[;k,¡ gSa tks uk rks 5
ls vkSj uk gh 7 ls foHkkftr gS\

SSC CGL 4 March 2020 (Evening)

(a) 407 (b) 410

(c) 413 (d) 411

56. 218 – 1 is divisible by :

218 – 1 fdlls foHkkT; gS\
CHSL 2019 21/10/2020 (Evening)

(a) 11 (b) 17

(c) 13 (d) 7

57. Given that 220 + 1 is completely divisible

by a whole number. Which of the following

is completely divisible by the same

number?

;g fn;k x;k gS fd 220 + 1 ,d iw.kZ la[;k ls
foHkkftr gSA fuEufyf[kr esa ls dkSu mlh la[;k ls iwjh
rjg ls foHkkT; gS\

CHSL 2019 16/10/2020 (Afternoon)

(a) 215 + 1 (b) 5 × 230

(c) 290 + 1 (d) 260 + 1

58. 225 + 226 + 227 is divisible by

225 + 226 + 227 fdlls foHkkT; gS\
CHSL 2019 19/10/2020 (Evening)

(a) 6 (b) 7

(c) 5 (d) 9

59. Which of the following numbers will
completely divide 7 81 + 7 82 + 7 83 ?

fuEufyf[kr esa ls dkSu lh la[;k 7 81 + 7 82 + 7 83

dks iwjh rjg ls foHkkftr djsxh\
CHSL 2019 17/03/2020 (Morning)

(a) 399 (b) 389

(c) 387 (d) 397

60. (461 + 462 + 463) is divisible by :

(461 + 462 + 463) foHkkT; gS &
(a) 3 (b) 11

(c) 13 (d) 17

61. A 4-digit number is formed by repeating a
2-digit number such as 2525, 3232 etc.
Any number of this form is always exactly
divisible by :

nks vadksa dh la[;k dh iqujko`fÙk ls ,d pkj vadh;
la[;k curh gS] tSls & 2525 vFkok 3232 vkfnA bl
izdkj dh dksbZ la[;k ges'kk iw.kZr% foHkkftr gksxh %
(a) 7

(b) 11

(c) 13

(d) smallest 3 digit prime number

62. Which of the following numbers will always
divide a six-digit number of the form
xyxyxy (where 1  x  9, 1  y  9)

fuEufyf[kr la[;kvksa esa ls dkSu&lh la[;k xyxyxy

izdkj dh N%vadh; la[;k dks ges'kk foHkkftr djsxh\
(a) 1010 (b) 10101

(c) 11011 (d) 11010

63. A six digit number is formed by repeating
a three digit number, for example 256256
or 678678 etc. Any number of this form is
always exactly divisible by :

rhu vadksa dh la[;k dh iqujko`fÙk ls ,d N%vadh;
la[;k curh gS] tSls &  256256 vFkok 678678 vkfnA
bl izdkj dh dksbZ la[;k ges'kk iw.kZr% foHkkftr gksxh %
(a) 7 only (b) 11 only

(c) 13 only (d) 1001

64. If a positive integer 'n' is divisible by 3, 5
and 7, then what is the next larger integer
divisible by all these numbersd?

;fn ,d ldkjkRed iw.kk±d n'  3] 5 vkSj 7 ls foHkkT;
gS] rks lHkh la[;kvksa ds }kjk vxys dkSu&lk cM+k iw.kk±d
foHkkT; gksxk\

CHSL 2019 19/10/2020 (Morning)

(a) n  + 21 (b) n  + 35

(c) n  + 105 (d) n  + 110
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65. If the sum of the digits of any integer lying
between 100 and 1000 is subtracted from
the number, the result always is :

;fn 100 vkSj 1000 ds chp fLFkr fdlh iw.kk±d ds
vadksa dk ;ksx la[;k ls ?kVk;k tk, rks ifj.kkeh la[;k
ges'kk
(a) divisible by 6 (b) divisible by 2

(c) divisible by 9 (d) divisible by 5

66. If m and n are positive integers and (m –

n) is an even number, then (m2 – n2)  will
be always divisible by, where m > n.

;fn m vkSj n /ukRed iw.kk±d la[;k vkSj (m – n)

,d le la[;k gS] rks (m2 – n2) ges'kk foHkkftr gksxh]
tgk¡ m > n.

(a) 4 (b) 6

(c) 8 (d) 12

67. Find the largest number, which exactly
divides every number of the form

(n3 – n)(n – 2) where n is a natural number
greater than 2.

og lcls cM+h la[;k Kkr djsa tks (n3 – n)(n – 2)

izdkj dh izR;sd la[;k dks iw.kZr% foHkkftr djrh gks
tgk¡ n, 2 ls cM+h ,d izkÑfrd la[;k gSA
(a) 6 (b) 12

(c) 24 (d) 48

68. The greatest whole number by which the
expression n4 + 6n3 + 11n2 + 6n + 24 is

divisible for every natural number n, is :

lcls cM+h iw.kZ la[;k ftlls O;atd

n4 + 6n3 + 11n2 + 6n + 24, n ds izR;sd eku ds
fy, iw.kZr% foHkkT; gS\
(a) 6

(b) 24

(c) 132

(d) 48

69. If n is a whole number greater than 1, then

n2(n2 – 1) is always divisible by :

;fn n ,d 1 ls cM+h iw.kZ la[;k gks rks n2(n2 – 1)

ges'kk foHkkT; gksxk %
(a) 16

(b) 12

(c) 10

(d) 8

70. Let N = 553 + 173 – 723. N is divisible by:

;fn N = 553 + 173 – 723, rks N foHkkT; gS %
(a) both 7 and 13

(b) both 3 and 13

(c) both 3 and 17

(d) none of these

71. How many values of (X, Y) are possible if

75X64Y are divisible by 45 ?

;fn 75X64Y, 45 ls foHkkT; gks rks (X, Y) ds fdrus
laHko eku gSa\
(a) 1 (b) 2

(c) 3 (d) 4

72. It is given that the difference between

(1034 + 57) and (1033 + n) is divisible by 9,

then find the value of n ?

fn;k x;k gS fd (1034 + 57) vkSj (1033 + n) dk
varj 9 ls foHkkT; gSA n dk eku Kkr djsaA
(a) 570 (b) 571

(c) 572 (d) 573

73. What is the value of digit A, if 1A927B1 is

divisible by 11, also difference between A

and B is 1?

;fn la[;k 1A927B1, 11 ls foHkkT; gks vkSj A

rFkk B dk varj 1 gks] rks vad A dk eku D;k gS\
(a) 0 (b) 1

(c) 2 (d) 2 or 3

74. The number 523XYZ is divisible by 7, 8 and

9. Then X × Y × Z is equal to :

la[;k 523XYZ, 7, 8 vkSj 9 ls foHkkftr gS] rks
X × Y × Z cjkcj gS %
(a) 120 (b) 140

(c) 170 (d) 180

75. Find the least value of x for which

(1025 – 7) – (1024 + x) is divisible by 3.

x dk og U;wure eku Kkr djs a ftlds fy,
(1025 – 7) – (1024 + x), 3 ls iw.kZr% foHkkT; gSA
(a) 2 (b) 3

(c) 4 (d) 5

76. How many four digit numbers with two

middle digits 97 are divisible by 55?

nks eè; vad 97 okyh pkj vadksa dh fdruh la[;k,¡
55 ls foHkkT; gSa\

CHSL 2020

(a) 1 (b) 2

(c) 3 (d) 4

77. What is the number of possible pairs of

(P, Q), if the number 357P25Q is divisible

by both 3 and 5?

(P, Q) ds laHkkfor ;qXeksa dh la[;k D;k gS] ;fn
la[;k 357P25Q, 3 vkSj 5 nksuksa ls foHkkT; gS\

CHSL 2020

(a) 7 (b) 6

(c) 5 (d) None of these
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1.(d) 2.(a) 3.(d) 4.(a) 5.(d) 6.(b) 7.(d) 8.(a) 9.(b) 10.(c)

11.(c) 12.(a) 13.(a) 14.(b) 15.(c) 16.(b) 17.(c) 18.(d) 19.(a) 20.(b)

21.(d) 22.(c) 23.(c) 24.(d) 25.(a) 26.(b) 27.(a) 28.(c) 29.(a) 30.(c)

31.(a) 32.(d) 33.(c) 34.(a) 35.(a) 36.(c) 37.(c) 38.(d) 39.(a) 40.(b)

41.(a) 42.(b) 43. (b) 44. (c) 45.(c) 46.(b) 47.(b) 48.(d) 49.(b) 50.(d)

51.(c) 52.(a) 53.(a) 54.(a) 55.(d) 56.(d) 57.(d) 58.(b) 59.(a) 60.(a)

61.(d) 62.(b) 63.(d) 64.(c) 65.(c) 66.(c) 67.(c) 68.(d) 69.(b) 70.(c)

71.(c) 72.(a) 73.(d) 74.(d) 75.(a) 76.(b) 77.(a)

Answer Key
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